1 23 245 + 14.846 = 5 The table shows the number of home and away fans attending
) ! ! three football matches.

Match Home fans Away fans

2_ c) 3,784 + 2,526 3d) 79 + 654 + 1,312 1 53,640 12,930

2 42,630 18,340

3 35,480 32,490

Which match had the greatest total attendance?

6, Use the column method to work out the additions.

. . a) £36,000 + £19,420 c) 843 cm + 15,611 cm
4_ Dexter is playing a computer game.

The table shows the number of points he gets in each round.

Round 1 2 3

Number of points 3,550 2,175 1,895

a) How many points does Dexter have at the end of Round 2? b) 40,720 g + 6,872 g d) £17,320 + £6,009 + £34,871
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